Summer Exam-2015
PMAD SECTOR

Performance Measurement (05.05.2015)
Duration: 3 hrs. Marks-100

[Instructions]
Ensure that the question paper delivered to you is the same, in which you intend to appear.
Read the instructions given on the title page of Answer Script.
Start each question from fresh page.

Attempt all Questions

Q.1. A company produces a single product. The planned production and sales for the latest quarter
was 46,000 litres. The budgeted costs per litre were as under:

Rs.

Prime costs 5.20

Production overheads — all fixed 2.80
Non-production overheads

Variable 0.65

Fixed 1.70

10.35

Actual production and sales during the quarter were as follows:
Production: 46,000 litres
Sales: 45,600 litres (at Rs. 12 per litre)

There was no finished inventory at the beginning of the period. Both fixed as well as variable
costs were incurred as per the budget.

Required:
(a) Prepare a Profit Statement for the petiod using Absorption Costing. 08

(b) Briefly explain the main difference between Absorption Costing and Marginal Costing and 06
calculate the increase/decrease in profits if marginal costing was used instead of
absorption costing.

Q.2. Star Ltd has designed a new product MLH. Based on the current market, the price of MLH has
been fixed at Rs. 200 per unit.

Cost of each unit of MLH has been estimated as undet;

5 kg at Rs. 12/kg. Loss in production is

Direct Material: X i
estimated at 10% of the material used

Direct Labour: 2 hours at Rs. 20 per hour.
Production overheads: | Rs. 25 per direct labour hour
Required:
(a) Expected Cost of Production. 02
(b) Target Cost of Product if the Target Profit is 30% of Sales. 02
(c) The Size of Cost Gap 02
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Q.3.

Q.4.

Q.5.

2

A company manufactures three products. Sales demand for the products in the next period is
estimated as follows:

Product A 6,200 units
Product B 8,000 units
Product C 11,500 units

Selling prices and unit costs are estimated as under:

Product A Product B Product C
Rs. Rs. Rs.
Selling Price 9.70 11.10 13.80
Costs:
Direct Materials 2.80 3.90 4.92
Direct Labour (Rs. 8 per hour) 2.40 2.40 3.20
Variable Overheads 0.90 0.90 1.20
Fixed Overheads 2.70 2.70 3.60

The company is experiencing a shortage of direct labour and estimates that a maximum of 8,500
labour hours will be available in the next period.

Required:

Determine the Production Schedule for the next period which will maximize profit.

A publisher makes an initial payment of Rs. 25,000 to authors for each accepted manuscript.
Thereafter, royalty is paid at 15% of the net sales price of the books sold.

The net sales price of a book is the revenue received by the publisher which is the listed selling
price of the book less the bookstore margin of 20% of the listed selling price.

A particular book has a listed selling price of Rs. 15. Costs incurred on the book by the publisher
(excluding payments to the author) are:

Rs.
Variable costs per copy 3.20
Total fixed costs 80,000

Required:

Calculate the number of copies of the book that need to be sold to allow the publisher to:
a) Break Even.
b) Make a profit of Rs. 35,000.

Mars Limited (ML) operates an activity-based costing system and projected the following, for the
next year.

Cost Pool ((ERC;S; ofl.\gg:}::
Production Set-ups 105,000 300 set-ups
Product Testing 300,000 1,500 tests
Component Supply and Storage 25,000 500 orders
Customer Orders and Delivetries 112,500 1,000 ordets

The annual costs of production and general overheads which cannot be linked to any specific
activity are estimated at Rs. 900,000 and these overheads are absorbed on a direct labour hour
basis. Total direct labour hours for next year are estimated at 300,000 hours.
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Q.6.

ML is introducing a new product AB1. The projected cost and profit relating to AB1 is as

follows:

Component Cost: Rs. 1 per unit

Direct Labour:

10 minutes per unit at Rs. 7.80 per hour

Profit Mark up:

40% of total unit cost

During the next year, ML expects to receive 100 orders of 60 units per order and 60 orders of 50
units per order for Product AB1. 900 units would be produced in each production run. Four
tests would be carried out during each production run to ensure that quality standards are
maintained. Components would be purchased prior to each production run.

Required:

(a) Calculate the activity — based recovery rates for each cost pool.

(b) Calculate the total unit cost and selling price of Product AB1.

04
09

The following information relates to Yazdan Motor Car Company for the year ended
31" December 2014 and 2013.

Operating Results 2014 2013
Rs. Rs.
Sales 5,930 4,096
Gross profit 570 272
Operating profit 470 184
Profit before taxation 496 180
Profit after taxation 270 110
Dividend 50 28
Profit retained 220 82
Capital employed:
Share capital 170 142
Revenue reserves 580 334
Unappropriated profit 2 1
752 477
Long term and deferred liabilities 842 12
1,594 489
Represented by:
Property, plant & equipment 124 100
Non cutrent receivables 28 24
152 124
Current Assets
Stores & spares 24 26
Stock in trade 1,214 822
Trade debtors 48 36
Cash & bank 514 304
Other current assets 1,152 82
2,952 1,270
Less: Current liabilities 1,510 905
Net current assets 1,442 365
Total Assets 1,594 489
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Q.7.

Q.8.

Required:

From the above information calculate the following for both the years:

(a) Gross Profit Percentage
(b) Current Ratio

(c) Quick Ratio

(d) Debt Equity Ratio

(e) Inventory Turnover Ratio

(f) Debtor Days

The Capital employed at Division A of Moon Ltd is Rs. 2 million. Currently, the division earns a
return on investment of 22%. It can make an additional investment of Rs. 500,000 for a 5 year
life with nil residual value. The average net profit from this investment would be Rs. 48,000 per

annum. Division A’s cost of capital is 14%.

Required:

Calculate Residual Income before and after additional investment.

A company manufacturing ‘distempers’ operates a Standard Costing System. The Standard Cost

of one of its products is as follows:

s Qi it T
A 40 kg. Rs.75 3,000
B 10 kg. Rs.50 500
C 50 kg. Rs.20 1,000
Material Cost per unit (Total) 4,500

The Standard Input Mix is 100 kg. and the standard output of the finished product is 90 kg.

Actual output of the finished product was 420,000 kg. The actual consumption for the period

was as follows:

A 240,000 kg @ Rs. 80 / kg
B 40,000 kg @Rs. 52 / kg
C 220,000 kg @Rs. 21 / kg

Required:

Calculate the following Material Variances:

(a) Cost Variance
(b) Price Variance
(c) Usage Variance
(d) Mix Variance
(e) Yield Variance
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Summer Exam-2015
PMAD SECTOR

Bus. Com. & Beh. Studies (06.05.2015)

Duration: 3 hrs. Marks-100

[Instructions]
¢ Ensure that the question paper delivered to you is the same, in which you intend to appear.
¢ Read the instructions given on the title page of Answer Script.
o Start each question from fresh page.

Attempt all Questions

Q.1. Rephrase the following sentences using the “You” attitude? 05

1. To help us process this order, we must ask for another copy of the
requisition.

2. We are pleased to announce our new flight schedule from Atlanta to New
York, which is any hour on the hour.

We offer MP3 players with 50, 75, or 100 gigabytes of storage capacity.
4. You should never use that type of paper in the copy machine.

You must correct all five copies by noon.

Q.2. You are Manager Loan Department. You have received Rs. 2.5 million running 10
finance loan request which you have to decline. Assume necessary details and
draft a refusal letter?

Q.3. Paraphrase the following passage taken from Raymond S. Nickerson's "How We 10
Know and Sometimes Misjudge What Others Know: Imputing One's Own
Knowledge to Others”.

In order to communicate effectively with other people, one must have a
reasonably accurate idea of what they do and do not know that is pertinent
to the communication. Treating people as though they have knowledge that
they do not have can result in miscommunication and perhaps
embarrassment. On the other hand, a fundamental rule of conversation is
that one generally does not convey to others information that one can
assume they already have.

Q4. Write an essay on “Why should I be a good Responsible Citizen?” 15
Q.5. (a) How does Job Enrichment adds to the motivation of an employee? 05

(b) What is meant by Attitude? What are its components? 05
Q.6. Your Organization provides consultancy and training services in the area of 10

Accounting, Finance and Human Resources along with providing different
services of Accounts and Finance department as an outward agency.

Write an unsolicited sales letter to introduce your products and services to
the prospective corporate clients.
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Q.7.
Q..

Q.9.

Q.10.

Discuss Alderfer’s ERG “Theory of Motivation”.

What are the characteristics and approaches of a “Transformational Leader”?

You are Director Training and Development. In your organization employee
turnover rate is higher than industry average. You have been assigned the task to
research the problem and submit a detailed formal report. Assume necessary
details.

Define the following Financial Market Terminologies?

1. Ready Business
2. Bull

3. Bull Account
4. Off-Take

5. Glut
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Summer Exam-2015
PMAD SECTOR

Financial Audit Manual (FAM) [07.05.2015]
(Common to all)

Subjective Marks-75 Duration: 2 hrs. 15Mins.

[Instructions]
e Ensure that the question paper delivered to you is the same, in which you intend to appear.
e Read the instructions given on the title page of Answer Script.
e« BooKks are not allowed.
o Start each question from fresh page.

Attempt all questions from PART-I and any two from PART-II

Part-I

Q.1. (a) The Auditors and the DAGP must posses the required competence. Explain. 08

(b) List the information an auditor generally gathers for most audits to understand the 07
entity’s business.

Q.2. (a) Describe the methods of understanding the system and application of Internal 08
Controls in an entity.

(b) State the Role of Supervision during the field work to ensure the quality of the 07
Audit Work.

Q.3. (a) Describe the tests of details applied to individual transactions that make up an 08
account balance.

(b) List the information often included in permanent Working Paper File. 07

Part-I1

Q.4. (a) When do you think a Conflicting Evidence occurs? Give three examples. 09

(b) What options are available to an auditor when Most Likely Error is greater than 06
Materiality?

Q.5. (a) State the Legislative basis under which the DAGP conducts audit. 08

(b) List the tools that ensure the quality of the auditor’s opinions and statements 07
during the reporting phase.

Q.6. (a) Describe the role of Information Technology and Audit Methods Specialist in 08
improving the quality of audit.

(b) Write a comprehensive note on ‘Audit Follow up’. 07
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Summer Exam-2015
PMAD SECTOR
Military Accounting Procedure (Practical) [07.05.2015]

Subjective

Marks-50 Duration: 1 hr.30 Mins.

e Ensure

(Instructions)
that the question paper delivered to you is the same, in which you intend to appear.

« Read the instructions given on the title page of Answer Script.
« Start each question from fresh page.

Books Allowed:

e Military Accounts Code e Pamphlet of Revenue, Debt and Remittance Head

e (Classification Hand Book of Defence Services Receipts and Charges

Attempt all Questions

Q.l.
Q.2.
Q3. (a)
(b)
Q..
Q.5.

What are R.DR Heads against those amounts, compiled under Major Head “Service
Receipt” and Expenditure of Defence Services — Effective, Non-Effective and
Capital Account (Met from Revenue) are adjusted in the Monthly Book compilation
and how are closed at the end of each year?

A Met Officer is transferred from Civil to PAF and posted at PAF Base Sargodha.
He has drawn House Building Advance from Additional AGPR Lahore (monthly
rate of recovery is Rs. 1,500). Draw Punching Medium for compilation of his pay
for the month of April 2014 with following data:

Rs.
Gross Pay 80,000
Income Tax 5,000
GP Fund 2,000
HBA 1,500
Recovery @5% rent of Gross Pay
Recovery of TA/DA 3,000

AGPR Islamabad while sending Civil Exchange (outward) for the month of June
2014 to CMA (Pension) Lahore has not furnished details under Head I & III. What
action will be taken by the CMA(Pension) Lahore in this regard?

How erroneous debit or credit in the Exchange Account of a previous year should be
adjusted?

What do you know about Major Heads C025 and F02? Enlist further codification
under these Major Heads.

A cheque for Rs. 10,000 issued at Habib Bank PAF Branch Sargodha during June
2014 could not be encashed and returned in July 2014. How cheque will be reissued,
if payment under the cheque was related to:

(a) Payment of GP Fund Advance or

(b) Payment of Local Purchase Bill of contractor for purchase of Tea, by an
Army Unit.

(Show adjustment & re-adjustment through punching Medium/Transfer Entry)
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Summer Exam-2015
PMAD SECTOR
Military Accounting Procedure (Theory) [07.05.2015]

Subjective Marks-50

Duration: 1 hr.30 Mins.

(Instructions)
Ensure that the question paper delivered to you is the same, in which you intend to appear.
Read the instructions given on the title page of Answer Script.
Start each question from fresh page.

Attempt all Questions

Q.l.

Q.2.

Q.3.

Q4.

Q.s.

Q.6.

Identify transactions which come under Head I to IV of Civil Exchange Account.

What is Consolidated Balanced Account? How Debt, Personal Accounts and the
Remittance Heads are closed?

What important points are to be seen by the Controller’s Offices during course of review
of compilations for the closing months of the Financial Year?

How Remittance Heads are closed in annual review of Balance Report and what is reason
behind for doing so?

What are the various classes of the Punching Media and Distinguishing Number?

Write a note on the System of Clearance under Head II.
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SummeExam2015
PMAD SECTOR

New Accounting Model (NOMM)5.20 15]
(Common jo all

Sibhjective Mar kg5 Durationhrs. 15Mins

[Instrucfions
8 Ensure that the question paper telivemed to wbuchsytou intend to apr
8 Read the instructions given on theStitiptpage of Answer
8- Quote reference of relevant para/section with the name of relevant manual.
§- Start each question from fresh page.

Books Allowed:

8- Accounting PoliRiesealudes Manual (APPM)
8 Manual of Accounting Principles (MAP)
8 Chart of Accounts (CoA)

Part ‘A’
NINE - r8—¥=" BN=j-C80-22] fro-8_ | §—¥4) E-—2- "R 1 ~-Kk3«£°8j=j-CEL £]-33¢  £:¥87 £
§mz-—E£-f g2 ) -32:LIRP~-~2-F
BfF Defence Affairs & Sard®@xeinndse Certificates 04
B Motddar AdvaockoverndreemamtsDirector Fooc 04
B PensiFonndiabilotizad Jammu & Kashmir 04

BEF Revenue Division (FBRReloeipme Tax 04

EF Receipt for the Sale of other WByoweerrmmenit 04
Coordination Division

E'SfF Revaluation of Fixed Assets, Investment b 04

nkk E~F From the following dataledgagreeintrysbly pickin O0E€
data of payroll.

ok
Benevolent Fi 1,0C
Income Tax 10,0
Capital Gain 1 14,5
G.P.Fund 4,5(

Petroleum Le: 12,0
Sui Gas Surch 3,5¢(
Net Pay 100,0

EF From the following statistics, prepare BhpeR&i O0E€
Budgeft DDXOYZ Ignore the effects of commitmen

BF AO07401 Last FY Nov. to,Qu®d.0R0s. 2
CFY IytoOcRs, 100,000

BF AO07402 LasRY Nov. to Juyinte0 9.
CFY IJytoOctRs.500,000

B AO07403 Last FY Nov. to ,000e00®s.1
CFY IJytoOctRs.500,000
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